0.130

R=1300.00
y

T=18.388

R=6000.00
T=25.430
=0.054

y

=1000.00
T=13.244
y=0.088

R

T=9.442
0.030

R=1500.00
y

SO 101

X .
0 :
g b
P o M
2@
£ (] Q
m o N
O = ~
Q0 _US ©
> ® (IS 3
(e} ©
o2l We,. o
> £5 N
c>] SEN
23 2a §
L2 - 29 ¥
X O +
20 Rd .
Q > 88 5
n > Los &

1C0: 07772769 DIC: CZ07772769

E-mail: info@prime-com.cz

Y /4

PDPS
03/2023
22PC10
: 1000/100

PARE CiSLO

1

STUPEN PD
DATUM

CiSLO ZAKAZKY

MERITKO

D.101.3b

-
<5 s
3|2 &
| o o
El (o) -
|2 - @
< | = w ,mAu
>
S 5
s| 8 | = <
2|9 o B
2| s o
slzl |2lgl 2 < M
z1 2] |812] £ | Z
El& a2 2 w O
5| s 512 < e
3> RIS o z
x| o 2o = [TH
ol £ Sle o (7)) (o)
T | S ' '
|5 lo) - K
%S m o o
o | D g
© o o)
& m > o Z
sle| 2 i
e S| & Q
< o |0 = o]
Qls|z = o
Q A
(&5 3E| 8
ol | [le.2 |:
O|lm| w <
wils] O 7]
[an ] ] X m
S O|0]| < (@]
Z
&
T
5
N —
° STAVAJIC! 89'26r—892er—— . -
8| 99972°¢ Z2ee] RU—IGL— /150 T2 goepy
= _ | 66 Zer=—"55z¢eY 0002 1G0¢2e
- 6v0ze ¢ 2 /
Se+ 3 S : & 8
SKkE o 2 | 88 Zer—9g e — 2660 2 i
© <P g 11102T _ PN
Tl \. 622 —0E2— N
SY . _ 822EV—6C 2ev——— 7986 . 788612
_ 3.0% &=
S €676l ¢ m = CIer—erTer—r 0016 T 68161
) _/ V7 IY—T T h— G678 - S6'7812
S / Wr—I Wy — 0008 &
P ' N
[re] b
A \8ELLT \./ 0Zeer—IZeer—r 190, 4  L90LIZ
- Q.NQL 2 b\ _
8 Lredl c® WW) 6126y —122e— 0009 =
S83 g | 35
S5 5 ~ SE mumie
SNT 208Y1C Lo b
— 9% H
= < O~ [TTer—L1T T —  000F
5 .
- ﬂ sezey_ Iszey_ | 00'0€
/OrCerT ey | 00°Ge
30% | Sy —r e —— Ve & 00'5eie
e D O Zer—r Zeh—— 0000 110242
g |
= _ _ . ~ £s
> BITE—GYT— S8
(<3 ' o<
8 | g
N~
' ~
_ £6°26r—88'26y—— / 1408
_ _ |h$§|£.§|l 0008 £1°080¢
. 970802 | e
S - : 9% 66702
o ~— M 3.0% o 1
8gg =N W% yleey—L0SCh— 7899 28'6902
S 250 _ . .
e 851902 7 o yzeer—8l e — 0009
ox S .
kS \ | 6eeer—IEeeh—  00°€S
N A !
/ £ <
9 _ | s |52
F/QW. —.NN.VO NV_E .M.mo\olemﬁxu ON mM.V|N© mm.v|l OO O.V M A.._n
\'y 2.03582
< 26'eEY 3
96820°C \ _ 3
Vv Lver— |, 0002
5 | | —tever—aver—F 000c .
& | e —lever—— S 3 gegp
v s [ | 8e Ve —VE oh——— S8TL d8'zL0¢
«©
288 3 \ w0 58
S 32 : 4V = Bl zevooe
SN T v1€00°C f 99'VEr—29 YEr—— 7T
o= > ! . . (@\] .
. SLYEP—LL Ve —— o)-cq - 6LS66)
N
~ £
-2.5% -215% m
== S0'Geh—E0'Geh— 0008 &
116 ,
s CELLBY /| LVSey—9L'Seh— 062, 06260 |3
& ' 3
[e0]
& : 68'SEr—8E'GEh—  00'09
=13 Ly SEr—S SEY 52'SS
w £6€56') %3 o £4
Q 8 195058 83 Lievel
sy - 3 | | |
s e < _ 18SEr—68'SE——T 000
Lo : . . .
T T Qe 9.866'} ; _ | £0'96r —10'9¢r—F  00°9€ —
; | |
: | 89'967—99'9gy— 7 €0 sresel |
3 09€26') A _ | 68'96P— 189 0002 %
\ \\ | |
» _
® / \ | | £9',6r—29'Le—F  SL'L0 -
& esr_ /7 30 608 —10 89—  O>
S ~ f 1.89838 A
© v/
SE5 8 _
S2S <N/ \ _ £9'86r—05'8Er——F 0006 2
PIT €38881 gl \ : 8
- =
m: i _ “w 11'88y—69'86h— 0008
-2.5% 25%
_ TR awmx 3
N yeeey— /886y —— 0089 3 .
S d
3 98'867—98'8¢h— 0009
8
i 52258} -
= 06'96V—G8'88h——  Z4'SP S
- 3 06'8y—¥8'86h——  00'0Y
S R <«
s88 4
o S .
w §T o 002€8}
= £8'8ey—280ey— 00:¢C
P _, 78'8ey—08'8ey— 00°0¢
i 8/'96y—GL' 98— SV - el
< SI1ig)
A o _ZENQNM_MM JN3A3A JOVAOTIAS ek
— Ni% Si6
< _ oS Sy O SE 66008l
< : | y9'96V—29°86Y - SE
M clo08’t ~ NOILJO INIAIA JOVAOTIAS ~ &l =
Sya 2 8
SS5 1588y 15°98y—95' 88— L¥'/8 - Y48l
L 6658’} 1958L
ge> 8 8 85'96v—09'86h— 0008
< s
S
S90/L')
\ _ 69'86—89'86h—— 0099
S | S/ '88y—v. 88— 0009
8
S
IS
S
‘ 96'96V—G6'88h——  00°0Y S
OLVEL)
1’3
S =
Sw., 5 81'66v—91 66V 00°02
sl S 4 yZ6er—1Z66h—— 009}
ST T 8IvIL1
x = a° =
5 | ~ 3
: [ _ 5 667 —vG 65— ] -
/ 09'66—09' 66— ~— =]
09€69°F ~
s 66'66v—86'66v— 0008
& ! 4 e ] .
& !
g, /
> \ \ 77 0vr—6€ OPp— 0009
o
\ \ 89 0V —19 0r——  00'1S 3
21791 f _ 06'0vv—S8' 0hb——  00°0%
N \ _
& -
N m. 80'byy— L0 yp——  00°0€ -
N \ 81 L or—El L yy—r 0002
68229’} Vi —Z o' lp—elrh— 0002 _
_ — it — & SL'819)
< 1] 6Ly elivp L8l
3 \ZLbh ! _
= G519 mﬁo. 23 ve09L |
= . Wir—plr—/ S 53 ¥
< 9709l _ /0 . 0000 _
3 pE—pin— 88 1 e
[eo]
1
Evees ) 0L Lyv—60 Li—— 0088 .
B L0'Vr— 10— 0008
o % my
o
N IN N
0029G'} g.:%_\ £
- :%m_j YO0 W— 0009 ¥ =
2 o
I SO’y —10'kr—— 008V —
SIS} L0°WWY—20' lWh——  000%
o)
S “ 25% _|_-2[5% =
= A . [Ze)
8 ! Eo4 Loy —po L ——t 30 _ ®
2 “ : ——C =90 Lr—F~ pL'€zs)
ﬂ €V IPr—80 lr——— 0002 _
o A4 400 8 g
W: LISIS) %/e  50(¢- P — W — 0LV E Uician
S | 150999 . . €150 .
> L N _ Wby — G0 Ly — £1'605}
A s6c05+ 8N _ 01—es0r—o 2 _
® 3 | Tz g
~ 0, 0, ~ ~]
M.n/— < .M.m\okv. % i n-qu
e T 02687} \ 148994 £9'e8
2 SEea] =\ /o §L 07 —1L 0pp— 9 £9'€8Y1
2g 2\ y _ 59 0by— €9 0rp——— 00'08
< T — 2.5% €5 0vv—8¥ 0b—  00'7. —
=) 1.46999 *
VLYol |
_ | : S€ 0vv—0€ 0bb——  00°09
| _ E5
R ,, | | . -
S : _ §TOr—9L OV— 698y &[T
ES g | _ S
= | | £ 0rr—0L 0bb——  00°0Y <
© .
| 26 66r— 0667 — / L00
. \ _ 16667 —06'667——— 00'0Z L0°02h)
206171 .
g = | _ ¥ 6Er—EL 6EY 00'80
mw. INES o ! ¢
S92 2 | | | <
% o ﬂyv 0SLoY') \ _ _ 89 6E—E3' 6 — — E
x o m
3 | | i
i} |
3 L6688} \ | _ 96'967—96'88r—— 00108 8
> / _ 0
p g '
) | 69'86v—69' 88— GL'. SLLISL
® 8199} \ | _
// | _ 0c8e—62 8 r— 0009 |
. e eesel
/ | _ L09Eh—G6 LS——F 0008 [%
\
\
\ . .
o \ n | | 0L 16— 16— 000F
S 0 | ! 89'Ley— 19 Leh——— v29e 1| yZ'96€)
N 6szeel ) |
x NK | _ ' S
[a) | (=)
< _” _ ! WISy —IY 18— 0002 S
o o A
: ,_ e | :
| | 1T LSy— T 16— Mm% L er90el
Y _
£7 Le—61 LS—-©
= 65662 1 _ | @ L
~ | _ S OBE oveeet
S e
2 _ sbiev__zvisv_ |, 0008
o _ | | —cerisv—crisr—/ 00¢s _
E— _ C TGy el ey [ 8E6L 8¢'6.C1
\ YLLT | _
= NEQ! | _
! 15297} N
g8 _ _ i bl Leh—el LEY 00°09
S93 N \1:29999 | ¢ £
S§NT g 02.GT') < _ 3
o > 8 £ / b b=
[a's m ~ < _ D__. I2)
N < S _ ©
A S _
) g — \ . T SeLEr—eTIe—r 0007
S 969€7} 9 o o
M,l | w .N.m\okv. 5%
S . S| —— 2wy ——avier—Isie— 6UC v6'L221
Qe AN ! _ .
& > L A
Seg o = — | ==er=eritr—= 0% .
S3 2 ~ o 1
S A ¢ 96EITT _ \_Wh £
o 3 9g°Ley _ / 1209% Sg
mo: @-.@ONF m Hx_ N IF A_n o
3 : | = J eh—— Gl N S
W\ 66002} _ 120000 | GG [ey—6Y [Cv— — <
s :
o =l e _|Nm_§|$.§|- 8 £ _
S88 S CILEP S I S 1
paLos = _ SLeY v LEY 0008
B ~
=1 i _ —G'ISh——T  00°0.
= £v691 1 _ _ 3
3 5.0% . S8 S
= Jep—8G JS—— 00 2 B
S \ e \ 09'267—85 LW 00y |§%
< —— N Lk —— o ssp—e9ss——] 008 -
o . N .
- 2| Tk \Ex \ ca ey —g9 51—/ 000y
SV = s 69 LEV__ €9'/¢Y /, mwmm c
S 8 < f i P— / ! 69 Ley—¢€9 Ley—— i = mm m
S€% <F 0288, ] 0T 2ty — _ ——69LeV—E9 LS —— 0L/ geLt
= A, | ! d -
sl | | L =
IELT) feet 250 /w,_% sk g |
2 == 99'/6h—9e— 0002 &N
m 1.12000
o | S o - 1+ g A Yoy ) £5°0L4)
o : ——29/6—95 16— 0080
— _ . . 1
=X 0
o N~
=3 f] s |
S58 < o .c7
STT 17S80°L 67580}
1l > X . . . =
& = —— 85 /e—€G IS —F 0008 & o
< N S
o «© <t
"y g S
V0.0 |
_ ———£9'/y—8G JS——F 0009
< | | . .
~ _ 89UEY_ S9UEy | 86Ty
S | —==g9/ey=—09 JSy—p" 00%F - 86'Z70)
= ———69'/§7—99'JSy——— 00'0F
)
[eo]
——plIS—2L IS —F  06'We
—— Gl USy—2Ll IS —F 0002
E o
© <
=/ el i 3
o — (3P .
SRTE < e | oy ——elle—assep— W00
st = N 25% 1 -2l5%
8r¢ § 25100 =t 1918—09 leh—
x> > \ e \_ <~
©.
) \ \
Q 786860 \ :
<.
<) / w . | 81 LEy—L LY I8 L1486
- \ / 2 r ———€0'/Sr—66'9¢r—F 0008
) : 097799
05160 / s
P
2 S ﬂ 0.94999 J 8
S8 @ < \\ _ . 9o 69€%
S8E 2N | | S 98— Sv9g 0009 &1
ST T 518560 ! _ | S
@ — s ! o
o ©
o '
S 08'98h pi 08987 — LT 9er—— L0'EY
- p— v .
! LEEYE0 y . . . L0"€Y6
_ . 094301 0€'9er—12'9Ey 00°0%
[T3) @@O.V@ O kH_N o&
IM\. 0.93602
g _ \| |
3 _ \ | SE'9EP— LT 9EY 0012
N TEGa8 i N s —ero— 000
MWO - | .Nm\okv.ﬁma
S S o S W __ 0.91302 £
] g2 o — o &
— IS s pL€06°0 ——wer—ver—eo =5 4
~ o
F A\ [ H
©
O 769880 |
R S 89'96y—29'9¢Y 0008
~— >
> ol o
o N S 3
- 2 S g
(/p) 2 [
IY ,A g N
ADH >
Z O o : a
= 3 =
IE - O o ¥ o _ = & o
o O = I < 5 &) R o
0O ~© 3 5.2 E 3 £ = -
ot w S Z 5 D3 2 - £ &2
O <= ¢ EED = £ 2 § 5 5
= ~<C = -
ny 5 E<z = = 3 = i =
P o lb— < S0 O o & £ = N
n N O o x x w n n =

@

CiSLO PRICNEHO REZU


AutoCAD SHX Text
SDĚLOVACÍ VEDENÍ OPTICKÉ

AutoCAD SHX Text
SDĚLOVACÍ VEDENÍ PODZEMNÍ

AutoCAD SHX Text
MK

AutoCAD SHX Text
II/BĚLÁ NAD RADBUZOU

AutoCAD SHX Text
II/197, H. TÝN

AutoCAD SHX Text
SVODIDLO DL. 210,4 m

AutoCAD SHX Text
128,3

AutoCAD SHX Text
338,7


